LR Parse Table + Scheme Exercises

Name ______________________

Grammar:

1. S -> B B

2. B -> a B

3. B -> c

LR Parse table:
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1. Parse the string: acc
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Parse the string acaac
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Scheme

3. Load the initial “patience.scm” code from http://cs.gmu.edu/~white/CS363/Assigns/

   into Scheme.

NOTE: Optional edit:   (define (sample)...   can be changed to (define sample ..

   To run the program, use (patience (sample)) or (patience sample) depending on whether you made this change.

Write functions gettopcard and popstack:

Each of the functions receives 1 “stack” parameter – the key/number of the pile of 4 cards + the cards (0 – 4) that are currently in the pile.

gettopcard retrieves the top card, leftmost, from the pile.  The pile of cards remains unchanged.

popstack removes the top card, leftmost, from the pile.

In these examples, “2” is the key/number of the pile.  The pile of cards is KS, 4D, 6S, 6C from top to bottom.

> (popstack '(2 (k s) (4 d) (6 s) (6 c)))

If the pile of cards is empty

(2 (4 d) (6 s) (6 c))



<--      1. return the same empty pile on top









of pile 2

> (gettopcard '(2 (k s) (4 d) (6 s) (6 c)))
<--
2. return an empty list as the top card(k s)

(define (gettopcard st) 

)

(define (popstack st)

)

